C:# Examiner laValeur du Chiffre par sa Position Nom:

Déter minez quel choix répond le mieux a chaque question. Réponses
1) Which choice has adigit in the billions place 2) Which choice has a digit in the ten millions

that is exactly twice the value of the digit in the place that is exactly twice the value of the L
dizaines place? digit in the centaines place?
A.8134 A. 9412 563 2.
B.8391 B. 6 314 589
C.3426 C. 6623813 3.
D.9178 D. 2169473

4,

3) Which choice hasadigit inthedizainesplace  4) Which choice has adigit in the dizaines

that is exactly twice the value of the digit in the place that is exactly three times the value of >
millions place? the digit in the unités place?
A. 4513279 A. 936 6.
B.6824 179 B. 546
C. 2316 547 C. 679 7.
D. 8 146 489 D.731

8.

5) Which choice hasadigitinthebillionsplace  6) Which choice has a digit in the unités place

that is exactly three times the value of the digit that is exactly three times the value of the S
in the ten millions place? digit in the dizaines place?
A. 2587 616 A.15 0.
B.8654 721 B. 39
C.4718235 C.95
D. 7 491 526 D. 89

7) Which choice has adigitinthedizainesplace  8) Which choice has adigit in the dizaines

that is exactly four times the value of the digit place that is exactly four times the value of
in the centaines place? the digit in the billions place?

A. 74281 A.1282

B. 21 547 B. 5387

C. 94518 C.3681

D. 25819 D. 8243

9) Which choice has adigit in the unités place 10) Which choice has adigit in the millions

that is exactly five timesthe value of the digit place that is exactly six times the value of the
in the centaines place? digit in the unités place?

A. 72439 A. 63211

B. 59 241 B. 46 913

C. 51495 C.35614

D. 93124 D. 29178
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C:# Examiner laValeur du Chiffre par sa Position Nom: Clé

Déter minez quel choix répond le mieux a chaque question. Réponses
1) Which choice has adigit in the billions place 2) Which choice has adigit in the ten millions C
that is exactly twice the value of the digit in the place that is exactly twice the value of the L
dizaines place? digit in the centaines place?
A.8134 A. 9412563 2. C
B. 8391 B. 6 314 589
C.3426 C. 6623813 3. D
D.9178 D. 2169473
s D
3) Which choice hasadigit inthedizainesplace  4) Which choice has adigit in the dizaines A
that is exactly twice the value of the digit in the place that is exactly three times the value of >
millions place? the digit in the unités place?
A. 4513279 A. 936 6. _ B
B.6824 179 B. 546
C. 2316547 C. 679 7. _ B
D. 8 146 489 D. 731
g. A
5) Which choice hasadigitinthebillionsplace  6) Which choice has a digit in the unités place o C
that is exactly three times the value of the digit that is exactly three times the value of the '
in the ten millions place? digit in the dizaines place?
A. 2587 616 A.15 10. L
B.8654 721 B. 39
C.4718235 C.95
D. 7 491 526 D. 89

7) Which choice has adigitinthedizainesplace  8) Which choice has adigit in the dizaines

that is exactly four times the value of the digit place that is exactly four times the value of
in the centaines place? the digit in the billions place?

A. 74281 A.1282

B. 21 547 B. 5387

C. 94518 C.3681

D. 25819 D. 8243

9) Which choice has adigit in the unités place 10) Which choice has adigit in the millions

that is exactly five timesthe value of the digit place that is exactly six times the value of the
in the centaines place? digit in the unités place?

A. 72439 A. 63211

B. 59 241 B. 46 913

C. 51495 C.35614

D. 93124 D. 29178
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